| N of simulated tracks vs dxy |

articles
H
o

[6)]

gP

=
o

N
=TT

Trackin

=
o
w

102

10

OJ. VO

Ratl

0.950

........................................................................

—-25 20 15 10 -5 O 5 10 15 20 25

TP dxy (cm)

N of associated tracks (simToReco) vs dxy |

Reconstructed TPs

Ratio

ey
o
N

1

....................................

—2520151050 510152025

TP dxy (cm)

| N of simulated track

Particles

Tracking
2

=
o
w

10?

10

oL-vo

Rati

0.95

-30

—=— DQM_V0001_R000000001__Global
—e— DQM_V0001_R000000001__Global
—«— DQM_V0001_R000000001__Global

__cmssw1000time
__mkFitNewOLD1000time__RECO

—_RECO

T S b~ TECTPOUUT SRR S
- - L™

r [

L = -

B [

.....................................................................

et
([

20
TP dz (cm)

=20 -10 0 10

30

Reconstructed TPS

Ratio

__mkFitNewTEST1000time__ RECO

TP dz (cm)



	Contents
	Page 1


